4 aBehy  1124F1 HTHISH %
Py B 2 R R e L R e iff”if —T = perc:gtlle —— 117 | 107 [mmsse|mimmnn

SE T F(FEF)
1 | EDPOO5 |4 % # 12 = 1 393 0.25 0.36 0.00 [ 000 [089 [115 | 108 1.62 2.46 5 (s
2 | EDPO06 (&2 g ] »+ 24 | po s 24 | 393 6.11 10.79 6.05 | 7.37 [12.63 [13.95 | 7.94 37.18 | 70.84 B (s
3 | EDPO07 |4 % % i 24-48 -] ps 0 393 0.00 0.00 0.00 [ 0.00 [ 0.00 | 0.00 0 0.04 0.3 ST A PN
4 | EDPOO8 |4 % . 48-72 /| p& 0 | 393 0.00 0.00 0.00 [ 0.00 [ 0.00 | 0.00 0 0 0.01 VA [Esn
5 | EDPO09 (4 2 g« »+ T2 /| sk 0 393 0.00 0.00 0.00 [ 0.00 [ 0.00 | 0.00 0 0 0 5 [Eswe
6 |EDPO10|4&% ¢ % 0 393 0.00 0.40 0.00 | 000 059 [079 | 049 1.28 4.13 EIRCE A - TSN
7 |EDPO1L (4% ¢ #2426 30 » 45 ¥ 0 0 #DIV/O! 0.00 2.59 6.4 13.14 v (s
8 |EDPO16 |4 25 - 4 5 & 55 | 393 | 13.99 22.69 17.18 [19.02 [26.38 |28.22 | 11.47 | 14.78 | 18.94 B |Esn
9 | EDPO17 |4 % # fi 4 g;,f,;a 5 & 9 393 2.29 1.95 013 [ 074 [ 317 [ 378 | 1.39 1.91 2.81 B s
10 | EDP022 | 5 - A& 5 4 v & 0 393 0.00 0.35 000 | 000 086 112 | 101 1.89 2.78 ERRCE A =S
11 | EDPO23 |5 = & 5 4 1t & 5 393 1.27 3.95 139 | 224 | 566 | 652 | 3.69 4.69 5.83 EIRCE A =TSN
12 | EDPO24 | % = & 5 4 & 303 | 393 | 77.10 69.08 63.00 |65.03 [73.14 |75.16 | 62.46 | 6513 | 73.03 EIRCE A =TSN
13 | EDPO25 | % m i & 5 4 & 85 | 393 | 21.63 25.02 19.32 | 21.22 |28.82 [30.72 | 1322 | 23.78 | 32.14 EIRCE A =TSN
14 | EDPO26 | % T A& 5 4 v & 0 393 0.00 1.52 000 | 045 | 259 [312 | 114 2.08 5.34 EIRCE A =TSN

EEHF(EEF)
1 [EDU00L|& % firag ¢ ik 2Bt £ v & 64 | 130 | 49.23 57.02 47.19 [50.46 | 63.58 | 66.86 | 40.37 51 61.56 R A =TT
2 |EDU002|%& % 7 % 4% CPR '+ & 0 393 0.00 0.05 0.00 | 0.00 [ 023 [033 | 007 0.24 0.46 EICE A E=
3 |EDU003| &+ OHCA s * Hf (e plew 4R 0 0 | #DIvV/O! | 0.00 8.33 1652 | 19.19 B |Esn
4 |EDUOD4|& s « et 16 7= & 0 393 0.00 0.08 0.00 | 0.00 [ 033 |[046 | 0.03 0.05 0.08 B |Esn
5 |EDUO0S[£# 5 4 24 | P AL S 1 393 0.25 0.79 0.00 [ 001 [ 157 | 1.96 0.6 0.97 1.56 ® |7 it |Esn
6 |EDUO06 |4 # 5 4 48 /| FEp €A 2 393 0.51 1.23 000 [ 026 | 219 [268 | 117 1.89 2.97 B |Esn
7 |EDUOO7 (&% 4 T2 | PN EEAD T 2 393 0.51 1.50 0.00 | 043 | 257 | 310 | 172 2.35 3.62 @ |7 P [mmn
8 |EDUO0B|& 7+ 24 [P £E &L ifs 0 0.00 32.65 0.00 | 0.00 [23.20 [3250 | 1871 | 3015 | 36.91 B |Es
9 |EDU009 (& + 48 1 mp £ apy frnz 1 50.00 27.87 ® 000 |000 5957 [75.42 | 1958 | 2654 | 3152 B |Esn
10 |[EDUOI0|& v+ 72 [ mp £ ar b 1 50.00 23.66 ® |[000 094 |4687 |57.73 | 2007 | 2588 | 3152 | @ B |Esn
11 [EDU012 & 5 4 i ] % 2 5 2 5 0 393 0.00 0.05 0.00 [ 0.00 [ 023 | 033 0 0.01 0.01 B |Esn
12 [EDUOL7 &% « B4 $ 24 4 5 0 393 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0 0.01 0.04 B |Esn
13 |[EDU021|4 2 5 4 % 2 3k 0 1 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0.08 0.09 B |Esn

Sy B (FAEF)
1 [ I1CPOOL |+esim s ¢ v g i v 32 | 145 | 2207 10.76 ® (369 | 605 [1547 |17.82 | 24.61 288 | 4182 | @ MmAcE Mm%
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ARy

1124F1 HTHIS H %

HiEHIERE percentile
Rl AR EFE A - A | AR AL HRTow BF 11H | 108 [#Emas |
P pik =4 (112 30| F20| F20] F30| 25 50 75 A et
2 | ICPO02 [4cztp % g 5 S AE R * & 102 | 145 | 70.34 46.43 ® [3506 [38.85 |54.02 |57.81 | 6023 | 66.84 | 7459 | @ micE: |z
3 | ICPOO3 [+c3k s 5 vt vs B » 56 | 145 | 38.62 30.14 ® |19.67 [12.16 |37.12 |40.60 | 29.28 | 36.67 44.6 [ ) Mici: Mz
4 [ICPO04 |4eikops s @ w S FARM o R 3 B AR 0 32 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 1.53 2.83 [CECF S [ e
5 [ ICPO05 [+cikm s> & 8 H/AE M REERE 2 %A O 102 0.00 0.00 0.00 [ 0.00 | 0.00 | 0.00 | 047 0.82 2.09 [CECF S [ e
6 | ICPO06 |4 g % o % EAR M o i B 4 B A2 0 56 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0 0.5 1.81 [CECF S [ RS
7 | ICPOOT |4eikgps % ¢l 0 32 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0 0 0.09 MAcE Mz
8 | ICPOO8 |4c g % ¥ & $ i d sk 0 102 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0 0 0.04 MAcE Mz
9 | ICPO09 [cship % 4 # M # 9 5 0 56 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0 0.18 0.35 FicE Mz
ik F(FET)
1 [ICU00T |*e3k s % fk ik 5 145 | 248 | 58.47 51.59 42.07 | 45.24 |57.93 [51.11 | 56.59 | 6554 | 80.71 MAiri [k
2 [ 1CU002 [4c3tpp % 7~ = & 5 20 25.00 17.34 ® (000 | 566 |29.03 (3487 | 10.02 | 1278 | 1543 | @ Mmici: Mz
3 [ ICU003 [24 /] prp £ 8 4e 2l 5 0 & 0 15 0.00 1.08 0.00 | 000 | 464 | 6.41 0 0.16 0.33 MicE: Mm%
4 [ ICU004 [48 - & & 3£ 4eslhps 500 F 0 15 0.00 0.54 0.00 [ 0.00 | 306 | 432 | 0.16 0.4 13 @ [miri |mizx
5 [ ICU007 [4e s op 5 & it o B w 4R 0 0 #DIV/0! 241 2.86 6.82 8.33 Mir® Mk
6 | 1ICU008 |42k % iE & F ol e 1 15 6.67 4.73 @ | 000 | 000 |11.28 1456 [ 1.12 2.97 4.79 ® | @ |[ffrz: |[mrk
7 [ 1CU009 [+ F 5 5 T i fr p 98 15 6.53 5.10 0.00 | 2.71 | 6.03 | 6.86 4.42 5.18 8.06 ifed  |Miz sk
8 | ICUOLL [4ezf o % s X BB H 2 X 0 | 145 0.00 0.00 0.00 | 0.00 {0.0000|0.0000| 0 0.14 0.49 Biri @ik
9 [ ICUOL2 |4c g % o « B B 17 5% 0 17 0.00 4.59 0.00 | 0.00 [ 0.00 | 0.00 | 10.35 22 21.77 Mird  [me ok
B F(FAF)
1 | IPPOOL (% 7 fesEAn b & % % A 1 |2245 | 045 1.55 0.00 [ 008 |303 |377 | o071 1.09 17 WL |3 28
2 | IPPOO2 | by « # » 4c s % 00 2 130 1.54 6.75 178 | 343 |10.06 [11.72 | 2.27 3.51 505 | @ MAcE:  |B 34
3 | IPPO14 |t g & = 101 | 130 | 77.69 79.31 71.27 | 73.95 [84.66 |87.34 | 31.62 | 67.69 | 80.62 B W EEY
4 | IPPO19 |fife- 4 ¢ A0 24 ] P 0 101 0.00 0.00 0.00 | 0.00 000 [000 | 165 4.85 16.05 B N
5 | IPPO20 |l & 4 Aci 2 ) ot 0 0 | #DIV/O! 0 8.33 10 EIEE A E S
6 | IPPO23 |fifijpm < ¢ v FAPM L iR 4 BA 0 37 0.00 0.00 0.00 | 0.00 (0.00000 | 0.000 0 0.05 1.47 Wik |31
7 | IPP024 |Hipeyy 4 et BARK W LR 4 B R 1 1250 0.08 0.11 0.00 | 0.00 {0.24200 0.30700 0 0 0.48 HEE (5248
8 | IPPO25 | fsups 4 £ jian i 4 5 0 41 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 0.05 0.13 Wit |2 18
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42 O8Fr 11241 B THIS H i

Y s R R e L R e iff[Jii{f —T = perc:gtlle —— 117 | 107 [mmsse|mimmnn
IPPO29 |71 bkt 4 &< ihl7 % 1 13 | 10 | 10 | 100.00 | 100.00 100.00 [100.00 10000 (10000 | 9822 | 9944 | 100 Wik 82w
BRGF(EEF)
1 | 1PU003 [* 351 s p 936 | 128 | 731 | 646 | @ |000 | 389 |1021 1178 | 608 | 743 | 932 i i |3
2 | IPU00R |14 = p 2 i o | 17 | oo | o7t 000 | 000 | 1.96 | 255 | 071 | 126 | 222 YU
3 | 1PU00T [iwrades 30 = v % 6 | 128 | 469 | 125 | @ |000 |000 | 273 |346 | 083 | 139 | 271 ® [iii |siu
4 [ 1PU008 [imr = = 11 | 128 | 859 | 809 | @ 000|080 | 539 |654 | 255 | 35 | 451 | @ | @ |i ci |sim
5 | IPUOL2 [ % % b 0 1n % 2 | 128 | 156 | 509 066 | 210 | 7.89 | 933 | 174 | 215 | 248 i |3
6 | IPUOLS [2 &7 & o | o | #ovior | 000 000 | 000 | 0.00 | 000 | 0 0 0 T
7 [ 1PU0L9 |21 2 = 0 0 | #ivio | 000 0.00 | 0.00 | 0.00 | 0.00 | 833 214 | 3171 T e
8 | IPU020 |¢ = 2175 4 2 o | o | #ovior | 000 833 | 9167 | 98.33 e |tk
9 | IPU021 (21" A& 15 p ¥R A (VBAC) 0 0 #DIV/0! 0.00 0 0.69 1.82 B4 |tk £
10 [ 1PU022 |35 a7~ % 0 | o | ool | 000 000 | 000 | 0.00 | 000 | 0 0 | ou ©of |phinE
11 [ 1PU023 [372 o » % o | 0 | ool | 000 000 | 000 | 0.00 | 000 | 0 0 0 ©of |k
12 [ 1PUC2A [w 2 0y 7~ & 0 | o | ool | 000 000 | 000 | 000 [000 | 0 | o014 | 033 ©oR |tk
13 [ 1PUOZS [352 2 14 2 p 2 » sk o | o | ool | 000 000 | 000 | 0.00 | 000 | 0 0 | 1719 Com |k
14 | 1PU028 [y il ® 2 0 |25 | 000 | 000 000 | 000 [0.0150 [0.0220| 005 | 007 | o041 T
15 | 1PUCS0 |2 fas v A f Asek s g R eass | 0 | 374 | 000 | 000 0.000%[0.000%[0.000%[0.000%] 007 | 01 | 016 T UEY
16 | 1PU0AO | i £ (5 48 | PR 7 & 0 | 4t | ooo | 000 000 | 000 | 0.00 | 0.00| O 0 | 005 dE |34
17 [ 1PU0aL [ = 215 4 % 0 | o | #oivor | 000 0.00 | 0.00 | 000 | 0.00| 833 | 1967 | 27.34 o |t s
18 | 1PU0A3 [ ! $ A5 2 % 0 |2245 | o000 | 000 000 | 000 | 0.00 | 000 | 0 0 0 T
19 | IPUOS |6t i & | 688 % 5 0 [2245 | o000 | o000 000 [ 000 | 000 | goo| © | 001 | 003 G |Em
IPUO4S (i rieth B b B 4% 458 3 % o |8 | ooo | 000 000 | 000 | 0.00 | ggo | © o | oo4 g |% 2
IPUOAT | irogs * R 2 & 0 |2245 | o000 | 000 000 | 000 | 0.00 | 0.00| 001 | 002 | 009 o |3 am
IPUO4S | i rs « b B = 0 | 130 | oo0 | 000 000 | 000 | 000 | 00| ©0 | 337 | 143 T
P s ()
OPS008 [ 4+ 529 |12160| 435 | 487 449 | 466 | 534 | 551 | 187 | 272 | 468 WL | bE
P55 B (R )
OPPOOL | 2 5 X ffa 130 |12160 | 107 | 120 094 | 103 | 137 | 146 | 083 | 114 | 153 Wi | s
PR R(EE)
OPUOOA |5k B 4 % 4 % o [11493 | 0000 | 0.0009 000 | 0.00 |0.000 [0.000 | 002 | 003 | 0.05 ek M
OPUO0S |/ 35 k™ A B 4 4 2 % 0 [11493| 0000 | 0002 000 | 000 [0.008 [0.010 | 0 0 0 ik |miz
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4 aBehy  1124F1 HTHISH %
R B e e R R R iff”if —T = percsegtlle —— 117 | 107 [mmsse|mimmnn
e i (R )
1 |RCUO0O1 [RCWs . % 4p B 9 1 |1162 | 086 1.00 0.00 [ 000 [026 [035 | 025 0.59 0.82 PR B ES
2 |RCUOO3|RCW Y % i F % #n M A 2 % & 0 | 311 0.00 0.11 0.00 | 0.00 [ 029 |[038 | 151 3.45 3.83 BEF (2w
3 |RCUOO7|RCW2E3- 4 4 3 M # 0 37 0.00 0.00 0.00 [ 0.00 [ 0.00 | 0.00 0 0 0 REF |2pn
4 | RCUOLL |RCW/E 7 Bk & {7 5 0 37 0.00 0.00 0.00 | 0.00 [ 0.00 | 0.00 0 5.79 11.35 wEd |2pe
5 |RCUOL2|RCWR 7 b3 # % 0 |1162 | 0.00 0.00 0.00 | 0.00 [ 0.00 | 000 | 0.01 0.03 0.08 wEdm |1pn
6 | RCUOL5|RCW s 4 » v B A g & 5 0 3 0.00 0.30 0.00 | 0.00 [ 000 [000 | 025 1.42 9.46 BEWE |1pn
FRE M (FEF)
1 [MGP0OL |, it 5 2245 | 4898 | 45.84 48.00 44.99 |45.63 | 48.18 |48.82 | 53.57 577 | 68.23 TRA (32w
2 |MGP002| & 5 f iF & 5 128 128 100.00 120.00 93.54 1101.81 [134.89 [143.16 | 136.43 184.65 | 261.22 TRA |3
FRLEF(EY SLF)
1 |MGUO0A| % F f 15 2 B ¢ # 0 1 0 1.00 0.00% | 0.00% | 0.62% | 0.85% | 0.25 0.75 1.91 ° ITRA |mpe
2 |MGUOO05| > ik 4 F 0 1 0.00 0.00 0.00 | 0.00 | 0.00 | 0.00 0 0.13 0.33 FTRA |mpE
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